2014 (SER264E /8 ) i — &
S E=—HELtnrAs 4 12

= = Bk
—EREk (+2.4)
Bk i 3m50
5000mW b3 23 54745
e BAL | 2B S
5000mW 515 29°09712
PYUE 61z 30m34
4x100mR yZivi L 51737
177;/27!( A(2)
L :: 2 ’ ”
4x400mR | T xE BR(1y ] 414734
N8B 81iL 13m25
~26 (It E
= Bk 2431 B4 (1) 4m00 LtXEHIS
— Xk 201 25 (2) 13m73 "
—F@Eﬁ\ 441 ENED) 1m83 I7;
= = b 54 AER(3) 3m70 7
5000mW 5 B EA) 23'59719
B & 7L 1753
74#—4,# 3L _— @é\
(53 K4 (F ik E=
PUE 4431 =+ F(3) 34m48 RitASH G
N %__Iik(s)
4% 100mR 6 ‘E’z*‘-g&g’(%’ 50”34 "
EE_E EhK(2)
HE B (2)
4 x 400mR s 407”21 "
5000mW 6L 2) 29 41°87
7 x(2)
) CEDA3—/I\{H15]
>) 2
| ES ) L
: =R *u"()2> =
B Fi#4E
4Xx400mR | #iRp87E ﬁ’é*};f((g)) 4’07717 4’04"78
2= ) CEZD)
IR 2)
4x100mR | F&EGH ) 50746
BUE 20f1 33m63




27~29 (Jc.kb)

EEFE 6.

18R GEF )

5000mW 31 2R EAQ) 239145093
£ =Bk 5{i FIGEENED) 1m80
Eik 3&%((2))
" Bl ;&2 s
4 x 100mR 841 ZH Gk (D) 44528
i HE4E()
e =i K% (F5) SOEK 3
PYE 34 gt FH(3) 34m80
800m 4431 AF B# Q) 2525529
5000mW 445 =248 &E(2) 28920F073
400m 7 451 ERKRZZA(2) 61%)24
288 (GLix=)
110mH 54 = EB®MO) 18%027
ZF g 5z K% (F5) sOE% ik
800m 51 fIERIE 5% (1) 25335090
400m 7 {51 XFE Bi () 6515
EEEFEEZES 7, 11~13 (%Mm)
=Bk 215 BRI &0 (2) 14m13 (BC#)
L= Bk 54 FICEENED) 1m80
(I EEDER)
100m 61i A HE4EO) 11873
110mH 64z FHi XKA) 17811
T Bk 740 Mg EK(1) 5m84
110mH 81 B BRAO) 17#93
ZF B 15z K% (5) EOER BE=E
DY 44 gt &) 35m23 (BCH)
10000mW 51 =2ta &1t (2) 645> 10F)29
400m [ ERRCZAH(2) 61F01
(FEEDER)
1500m 21 XE B#() 5%>00F)92
A3 —i\{ 7,30~8,3 (FF)

A FE)

SLER7EL

4m60ZEL{ERRK

H—xk 8,8 (tEF)

288

T4 S\Y B ] — 5 D B 7

316




B AAKE O, 5~8 (k)

Bk 2[5 A BEEQ) 4m50 (B2 5D
=Exik 24 R &0 (2) 13m83
5000mW 211 2R BEAQR) 2445326F015
E =Bk 34 Mg £:K(1) 1m86 (B2
4 x100mR 4451 B KEQ) 43%091
R &nE(2)
Bk BE2)
i BEEQ)
100m 51 BRI &0 (2) 11%49
110mH 740 E R o.NGD 17011
= ER Bk 81 s E:K(1) 12m58 (B2 )
BFELE 441 255
ZF B 15 K4 (F45F) 8% BE=E
5000mW 211 B &1t (2) 294> 26F)1
4 x 400mR 4451 HE E(2) 4’\05?"
=2E EK(2)
XFE B#(2)
ERRZZA(2)
800m 44 XE B 253225091 (BCF)
100m 54z EE EK(Q) 13%#06
200m 61iL BHE EK(2) 26§49 (BE#)
NI—H 61iL 2H X&E(2) 23m20
1500m 84 XE Bx(1) 453588157
BItHA 9, 27~29(E5H)
=Bk 2 55 R F0E(2) 14m39 2FEZE 4t H
Bk 241 A BEEQ) 4m?20
5000mW 54 =2E BEA2) 235> 445086
E =Bk 1447 Mg E:XA() 1m81
=48 ;:ﬁ;i;g1§
N BRI FiE (2 N
4 x 100mR FES L FE (0] 44522
i BEEQ)
e JIE 52 K% (F5) SOE% E=
5000mW 81 =i &t 85758%)2
800m FE7 L KF B# 2’\242'1‘50
100m ¥E8 L BE EK 13%03
f ﬁk%j%
Sy RARZZ INAEED
4 x 400mR FiEAL *5 BE 4505%)88

mm

HE B

PEREL

11, 1-2 (52)

=Bk 1451 R F0E(2) 14m10

Bk 145z i BEEQ) 4m?20

5000mW 31 EE BEAQR) 24%>35%092

= Bk 54 M EXA() 1m80

e B2 K4 (F5) sOE% S
800m 241 NI X 16D 245r23F)5

1500m 241 NI X 16D \561@‘86

5000mW 21 Bi5 & (2) 834005

400m 31 ERRZCA(2) \01‘#'1\29

400mH 31 ERARZZA(2) 1507F)34 (BSF)
4 X 400mR 34 fERIE5ZE (1) 4537118051

=R EK(2)
XFE B#(1)
ERARZZAH(2)




200m 51 R EK(Q2) 27%10
100m 61iL BR EK(2) 13%)37
4 X 100mR 7151 i EF(2) 5344
=HE EK(2)
B2F X&FQ2)
ERARZZA(2)
HE: 11, 23 (AL.E—2m)
X g {iz K% (%) i 8% BB B
1 X 17 B KE() 32744%) 8. 5km
2 X 16 Eh D o.NED 32940% 8. 6km
3 X 13 HE FE5AO) 2757 32F) 7. 4km
4 X 11 KiZE =X0) 255932 6. 8km
5 X 11 TR K¥E(2) 265700F) 6. 7km
6 X 7 BEE BEA2) 38,24 11. 2km
131 (HB18F—L) |3H:f02452F) 49. 2km




